FLORIDA PRODUCT APPROVAL #32346

MODEL1845 DOUBLE HUNG WINDOW,

" INewSouth

IMPACT RESISTANT,

WINDOW sowutions

EQUAL-LEG, INTEGRAL FIN & FIN-FLANGE FRAMES

1) THIS PRODUCT HAS BEEN DESIGNED & TESTED
TO COMPLY WITH THE REQUIREMENTS OF THE
FLORIDA BUILDING CODE, EXCLUDING THE HIGH
VELOCITY HURRICANE ZONE (HVHZ).

2) SHUTTERS ARE NOT REQUIRED WHEN USED IN
WIND-BORNE DEBRIS REGIONS.

3) MASONRY ANCHORS MAY BE USED INTO WOOD.
ALL WOOD BUCKS LESS THAN 1-1/2" THICK ARE TO
BE CONSIDERED 1X INSTALLATIONS. 1 X WOOD
BUCKS ARE OPTIONAL IF UNIT IS INSTALLED
DIRECTLY TO SUBSTRATE. WOOD BUCKS
DEPICTED AS 2X ARE 1-1/2" THICK OR GREATER.

4) ANCHOR EMBEDMENT TO BASE MATERIAL SHALL
BE BEYOND WALL DRESSING OR STUCCO. USE
ANCHORS OF SUFFICIENT LENGTH.

5) MAX. 1/4" SHIMS ARE REQUIRED AT EACH
ANCHOR LOCATION WHERE THE PRODUCT IS NOT
FLUSH TO THE SUBSTRATE. USE SHIMS CAPABLE
OF TRANSFERRING APPLIED LOADS.

6) THE ANCHORAGE METHODS SHOWN HAVE BEEN
DESIGNED TO RESIST THE WIND LOADS
CORRESPONDING TO THE REQUIRED DESIGN
PRESSURE. THE 33-1/3% STRESS INCREASE HAS
NOT BEEN USED IN THE DESIGN OF THIS PRODUCT.
THE 1.6 LOAD DURATION FACTOR WAS USED FOR
THE EVALUATION OF ANCHORS INTO WOOD.
ANCHORS THAT COME INTO CONTACT WITH OTHER
DISSIMILAR MATERIALS SHALL MEET THE
REQUIREMENTS OF THE FLORIDA BUILDING CODE
FOR CORROSION RESISTANCE.

7) FRAME FLANGES OR INTEGRAL FINS MAY BE
TRIMMED IN-FIELD TO CREATE AN EQUAL LEG
FRAME.

i ORIEL
CONFIGURATIONS

DAYLIGHT ALLOWED
OPENING PROVIDED THAT
HEIGHT THE MAX DAYLIGHT]

FRAME OPENING HEIGHT

HEIGHT Y AND THE MAX.
FRAME HEIGHT,
AS SHOWN
ABOVE, IS NOT

EXCEEDED.

48" BUCK WIDTH

=~ e &

4 -

41-3/16"
MAX. DAYLIGHT

/

QPENING HEIGHT

(A
40-1/2"
MAX. DAYLIGHT
92" OPENING WIDTH
MAX.
BUCK
HEIGHT * @

42-3/16"
MAX. DAYLIGHT
OPENING HEIGHT

i

/

41-1/2"

OPENING WIDTH

|

MAX. DAYLIGHT —=—

!

4-9/16" MAX

4-9/16" MAX —=] l=—

TYP. ANCHOR LOCATIONS @ TESTED SIZE

f

(FIN, FIN-FLANGE FRAME SHOWN)

(SAME ANCHORAGE APPLIES TO 54"x84" SIZE

—— ~=— 7/8" NOM.
DOW 791 — 1/8" ANNEALED OR
DOW 983 i TEMPERED GLASS
DOW 995 "
RGS 7700 | _—7/16" AIR

*T. |l —.090PVB

1/2" NOM.J
GLASS BITE

_ |
GLAZING DETAIL

¢ —— 1/8" ANNEALED GLASS

DP RATING LARGE & SMALL
+ 50 PSF MISSLE IMPACT
- RESISTANT
|l 54" BUCK WIDTH
2
3" TYP.
37-3/16"
MAX. DAYLIGHT /
OPENING HEIGHT /
(N
D1 b
46-1/2"
MAX. DAYLIGHT = ¢
. OPENING WIDTH
84 - 4" TYP
MAX. | B - — G
BUCK i %
HEIGHT ? &
38-3/16" /
MAX. DAYLIGHT 74 =
5
OPENING HEIGHT ‘ 3
47-1/2"
MAX. DAYLIGHT =
OPENING WIDTH ¢
' - 14" TYP.
Al ‘ 3" TYP.%

NO SILL ANCHORS REQUIRED i % j

TYP. ANCHOR LOCATIONS @ TESTED SIZE

j

(EQUAL-LEG FRAME SHOWN)
(SAME ANCHORAGE APPLIES TO 48"x92" SIZE

TABLE 1: DESIGN PRESSURES

Buck | Buck | Design Pressure
Width | Height| (+) psf (-) psf
54" 84" 50.0 50.0
48" 92" 50.0 50.0

FOR SIZES NOT SHOWN, ROUND UP TO THE
NEXT AVAILABLE WIDTH OR HEIGHT DIMENSION.

W,
\\ /y

\\\\ Q * 53/]///’/ g
S ST, 8

I MO
~ '\\V’.' . ¢/ +
S é'. i8] ..' \»‘:" g
S8y 8 SUsE T
= ZiZ cw g
S>:iE 8 K CE i LzZe
x5 8§ oL o5k
2% SE
w K, SO 2
W S £
// * P O\\\ -
// W <

/7 WM
A. LYNN Mlll_llélylgt\ P.E.# 58705

© (%]
Q| 3. ko) a
Ql.552| o | EE >
#* | R2=F < —
=~ | S8k % 7> m
F %)
O |28u8| T ﬁﬁ Z 0
PR [vd O
< |88 W AxX| FFuWw
r |$332| O o s
- lsZag|l @ | 22| 2
v 8522 5195|038
ol 850 nz| o8
8 220l O | W% O
- O Qa
- lonlag
i w2 Z0=2
" x| Sh|3ua
14 LLl Al TAO®
L n |z E O
- SO|5S5g
= WILEz| o004
= < | U5 <
Z — | W3 EEE
Z X Op| U<
P e Z -+
Te]
o8 [
<o m =
>'_l_|O
mOg o o
DZ - © =
o5 W @)
uw = e)
< =-Z2 <
O T L
WE>3 |~
Dfo ;O ~
Ol g
S| s
518
Z|l =1 =
Clg|u
Dl w| <
> a] o
wilalao
x| <<|>D
Z1 8]
al S|
I+ ~— [qV
DATE: 12/13/2022
SCALE: NTS
BY:LOGAN YODER
DRAWING #:
DH1845-FPA-LM
SHEET: 10OF5



AutoCAD SHX Text
8/17/23


1y
BUCK WIDTH | awwi! 11,
T\ EQUAL-LEG FRAME X-SECTION ; - WM X /; 0
{2/ WOOD OR MASONRY CONSTRUCGTION 1/4" MAX SHIM T 1/4" MAX SHIM Q\\\\,@?g,....u ,7?_9%/,/ 5
S "y ., =
EDGEDISTANCE — == oo o EMBEDMENT ~ I e (22) B ] S§ . kT o
| _ _\ S R AT T
U] ) — ._I."M EDGE DISTANCE | 5 555’ 5 . o8 %-, ey
N 3 = %58 SR g LY
r 1/4" MAX SHIM EDGE [ },\l'ﬁ“' f = ';',% 3 gg - g;: ©
T | DISTANCE = 38 D.L.O WIDTH R i ~7Z. S
I UQ‘% 0 V . N - % SRS S
L — ’ . S 2
B N ) k // //(/VV ‘ren ..Kg * Q@\\\\ %
SUBSTRATE] I / R % /", x P“\{\\\\\ <
17 T D.L.O WIDTH A. LYNN MIII_I!éIyFlE\ P.E # 58705
=T e 71 | 2 :
) ‘ . i N O o 0] o
§ O a /4 EQUAL-LEG FRAME X-SECTION 4 EXTERIOR /5 EQUAL-LEG FRAME X-SECTION 2. E22| o | @ S
. \2/ USING 1X BUCK 22 e \2/ STEEL STUD CONSTRUCTION *1833El 2 | T @
o 1 Y 5lezsE| 212 |24
= | EQed 2 o
® St w|® |26
r |2 Sel 4 w 5 s
O E|5Zeg|l @ | o |2
0 | 35w w 9 o) =
9 oEL D | 2w I o
| 15| 3 |Ez|2¢
DAYLIGHT x| g Q|lug % @
OPENING iy : w|S*la<,
HEIGHT (16) 1 wis |28z
/ TABLE 2: INSTALLATION ANCHORS o = = Xo
@ — 1)  ANCHOR MUST EXTEND A & w < TH®
Minimum | . . MINIMUM OF 3 THREADS u 2 Eof
Anchor Substrate Edge inimum BEYOND ANY METAL = 0 | < OO0«
L . Embedment SUBSTRATE s IR B -
AN @ Distance = © |z =5s
F L
BUCK | Southern Pine (SG = .55) 12" 1-3/8" 2) "UNGROUTED CMU" VALUES £0 z 25
R, ORIZONTAL CROSS SECTION #10 or #12 . . - - MAY BE USED FOR GROUTED >R
HEIGHT f ] EETING RAIL Steel or 410 SS Aluminum, 6063-T5 min. 5/16 0.045 CMU APPLICATIONS < 8 % E <§E
Steel Stud, Gr. 33 min. 5/16" 0.035" (20 Ga) > o
@ [ Screw mnO7 38 o
A36 Steel 5/16" 0.035" 3) ALL ANCHOR HEAD TYPES a % i © =S
216" Steel Concrete (min. 2.9 ksi) = 1-3/4" ARE APPLICABLE BEJ Cog g.
o Ungrouted CMU, (ASTM C-90) |  1-1/4" 1-1/4" a5 é A I
Southern Pine (SG = .55) 1 1-3/8" rs2 S x|s
DAYLIGHT .~ — = - 0L —Z = T ;
o OPENING 1| 1/4" Steel Concrete (min. 3.0 ksi) iy 1-3/8" O £
5 " b " <
HEIGHT @ Utracons | Ungrouted CMU, (ASTM C-90) 1 1-1/4 S|z
Southern Pine (SG = .55) 1" 1-3/8" = '; @
(17) S|l gl
D W <
@ l e > al o
L O o
x| <|3>
e = C‘ H INSTALLATION NOTES: i || o
i’ E—r_ﬂ »-,;y‘]!hflﬁ 0 1) SEE SHEET 1 FOR ANCHOR SPACING REQUIREMENTS. 21eQ
D ( l AL = ] S [m) ~ B
ﬂDDU 7 3@ 2) ANY INSTALLATION OPTION SHOWN (2X BUCK OR WOOD FRAMING, 1X BUCK, DIRECT TO MASONRY, STEEL STUD) MAY
"] @ BE USED ON ANY SIDE OF THE WINDOW. #® =
A
‘ | mﬂ@g[j @ 3) USE ONLY SUBSTRATE APPROPRIATE ANCHORS LISTED IN ANCHOR TABLE 2. FOLLOW EMBEDMENT AND EDGE DATE: 12/13/2022
[ — DISTANCE LIMITS. MAX. SHIM THICKNESS TO BE 1/4". SCALE: NTS
T ANCHORS NOT
" REQUIRED IN .
1/4" MAX SHIM SUBSTRATE] SILL BY:LOGAN YODER
EXTERIOR /3 EQUAL-LEG FRAME X-SECTION DRAWING #:
- {2/ WOOD OR MASONRY CONSTRUGTION DH1845-FPA-LM
SHEET: 2OF5



AutoCAD SHX Text
8/17/23


MAY BE NAIL

OR SCREW,
SEE TABLE 3\*ﬂ

/1 FIN-FLANGE FRAME X-SECTION

\3 JUSING NAILS

EMBEDMENT —f=——+

DAYLIGHT
OPENING
HEIGHT

BUCK

HEIGHT
12

16

/L

\

\

1/4" MAX SHIM

EXTERIOR

=

%
14" MAX SHIM |

1=

SUBSTRATE]

—— MAY BE NAIL
OR SCREW,

SEE TABLE 3

FIN FRAME X-SECTION
USING NAILS

BUCK WIDTH
% 1/4" MAX SHIM —=— =~
SUBSTRATE}—
EDGE DISTANCE \
SUBSTRATEN ; )
) 0|
! EMBEDMENT - »
1/4" MAX SHIM [
L (=) 38 22
V = -~ DLOWIDTH —+
EDGE | S ~F ]
DISTANCE
17 L
MAY BE NAIL -~ DLOWIDTH
OR SCREW, <T
SEE TABLE 3 1B
FIN-FLANGE FRAME X-SECTION
/ T\ FIN FRAME X-SECTION 4 ) EXTERIOR [
(G USINGNAIS » U &/ STEEL STUD CONSTRUCTION
16
HYBRID CONFIGURATIONS (FLANGE FRAME/FIN FRAME)
ALLOWED WITH MULLION INSTALLATION, SEE PAGE 2
” FOR FLANGE FRAME INSTALLATION DETAILS.
TABLE 3: INSTALLATION ANCHORS
13 —— - 1) ANCHOR MUST EXTEND A
In. Edge In. MINIMUM OF 3 THREADS
8 Anchor Substrate Distance | Embedment BEYOND ANY METAL
/2 HORIZONTAL CROSS SECTION " 0 : : 0 0 SUBSTRATE
. (G MEETING RAL 2-1/2" x .113" Box Nail P.T. Southern Pine (SG = .55) 5/16 2-1/2 2)  ALL ANCHOR HEAD TYPES
N - 2-1/2" x .131" Common Nail| P.T. Southern Pine (SG = .55) 3/8" 2-1/2" ARE APPLICABLE
2-1/2" x 145" Roofing Nail | P.T. Southern Pine (SG = .55) 3/8" 2-1/2"
P.T. Southern Pine (SG = .55) 1/2" 1-3/8"
Aluminum, 6063-T5 min. 5/16" 0.045
#10 Steel SMS -
Steel Stud, Gr. 33 min. 5/16" 0.035 (20 ga)
™ A36 Steel 5/16" 0.035
22 INSTALLATION NOTES:
10 1) SEE SHEET 1 FOR ANCHOR SPACING REQUIREMENTS
B H 17 2) FLANGE AND/OR FIN MAY BE REMOVED TO CREATE OTHER FRAME TYPES.
0] > 3) USE ONLY SUBSTRATE APPROPRIATE ANCHORS LISTED IN ANCHOR TABLE 3. FOLLOW EMBEDMENT AND EDGE
T = DISTANCE LIMITS. ANY INSTALLATION OPTION SHOWN MAY BE USED ON ANY OR ALL SIDES OF THE WINDOW.
[ 11 4) MAX SHIM THICKNESS TO BE 1/4". MAX SHIM SPACING TO BE 18".
1B

\ /
\\\\Q ween 3, ,,// §
\\,’ \,@.,»' ' "-,. / // 39;

S ~ Q% 3
S RN
53y 8 SUsE T
=5z @ xlrpEgsy
- ...J-_Ué X “koiZzzy
2% £ e os]
- 2 CANT 2
“ O.' - %'\ =
BN
e Ol
21y, X PR <
ATITEER A
A Lynn it R B p e 4 58705
=
Q5321 © >
; SogE|l Z | m
o=F=|l D | z ®w
Olcsyk| T|E |Zo
E|lozdx rw | O
< |50l Wl lws | EW
Elizan|l m|[35] 22
%)) ODUJE o OE
z oEx D — e
O] “;728 e |-éJLLI (20S)
iz | Aa 212w
1" 153382
ui W k| zge
o X 3z (258
14 % < 3:8“_"
4 %) Sgld
— (p) Z -
= Z |00«
= g N —n
= — 5,32
z X LS
| Z <+
> w
~oX 5 =
Rk o =
Eoﬁg o
DZ - © =
o 5w O
x3C98 -
<EFEZ < ®)
o T ﬁ
rS57 % x|
D_SZ@/ T <.
Ol Z
| o
S| s
|8
5| 5|
Dl w| <
> ala
wilalaoc
x| <|>D
(i
218
al S|
I+ ~ N
DATE: 12/13/2022
SCALE: NTS
BY:LOGAN YODER
DRAWING #:
DH1845-FPA-LM
SHEET: 3O0OF5



AutoCAD SHX Text
8/17/23


4394" ——~ 4.360" ——~ W\,
4390" = x\\\\&\ * M3y, s
QI -.4//0/’/, 2
[ b &Y kb
.068" S='w 8 X AR
2.700" WD L] ] = 2 4 5 Sg el 2T u
" ] hatl] Xsok EiSEe
1.702" 1.702" =58 ¢ tobEgi8SE
1 | %, Do ios s
ﬁ _ 216" | 2% N
5 /// (4/ ..... .KS,.' Q@ \\ E
" /, b’ O \\ 2
162 ‘07, ¥ p\%\\\\\ -
3.311 A.LYNN MI(I{ Ii‘FlE\ P.E.# 58705
“FRAVE -
o g Yo S
3.311" 2 [832E| 2 o
1.887" = INTEGRAL 3.312" §|ezhz| 2 D w
f T ® FiN FRAME () FINFLANGE = 8225 o S &
. 1079" 1.037" : R FRAME = lesse| Y Eg
060 & 793" 450 ,E o |0582( B 2 (32
) " 2z o o
: L " o) 8%8 8 O |»8
1.697" — ~ 418 wl g1 al 4 20
o
SILL (G HEAD GLAZING BEAD uj 0| &|23e
ADAPTER ADAPTER (7/8" GLASS) o o w = 58
: ol |5¢e
Tp] .
1.887" 1.848" = 1.569" s 3 8%
_ o0 — QO
ﬁ 9% 14 T .060"H T 060" Zy \ oS3
[T eoz e DH 437" e =Ante
NORN 3 s
594" —=—~ f D%j 3 J <‘>(' 3 § = =
SASH KEEPER D9k g o
ADAPTER AL (Z)sTILE %, % =
880 o= S
" 2.387" — 2.387" ' & o g = I
1.813"—= i NS— 573 x|~
060'H foz3 =
060" : ) 5|z
1 437" DH 1.435 1.431 1.078 <|<
ﬂ 1O
1 i~ .061 215 |
TOP PULL TILT LATCH ol 2|k
LOCK RAIL BOTTOM Dl wl|<
® ©® raL @9 puLL RAIL & REINFORCEMENT CLIP gl3|8
828" - 1.050 = ﬂ 1.074" 850" 'ﬁé & 2
T' — T Ty T T 060" S|
652" W 652 -652"% 5 %@f 375" il I
062- f .062 - f f 062" 5 DATE: 12/13/2022
@ STILE KEEPER LOCK TOP PULL RAIL SCALE- NTS
REINFORCEMENT REINFORCEMENT REINFORCEMENT REINFORCEMENT BY:LOGAN YODER
THE APPROVED RIGID PVC EXTERIOR EXTRUSIONS FOR DOORS ARE TO BE PRODUCED BY :
EXTRUDERS' LICENSEES UNDER "AAMA CERTIFICATION PROGRAMS FOR RIGID PVC DRAWING # :
EXTRUSIONS". DH1845-FPA-LM
SHEET: 4O0OF5



AutoCAD SHX Text
1A

AutoCAD SHX Text
1B

AutoCAD SHX Text
2

AutoCAD SHX Text
10

AutoCAD SHX Text
11

AutoCAD SHX Text
12

AutoCAD SHX Text
13

AutoCAD SHX Text
14

AutoCAD SHX Text
8/17/23

AutoCAD SHX Text
3

AutoCAD SHX Text
4

AutoCAD SHX Text
5

AutoCAD SHX Text
6

AutoCAD SHX Text
7

AutoCAD SHX Text
8

AutoCAD SHX Text
9

AutoCAD SHX Text
1C

AutoCAD SHX Text
37


ITEM DESCRIPTION CBP PART # MATERIAL/ DESCRIPTION
1A EQUAL LEG MASTER FRAME 1813A RIGID PVC
1B NAIL FIN MASTER FRAME 1843A1 RIGID PVC
1C FIN-FLANGE MASTER FRAME 1843] RIGID PVC
2 SILL ADAPTOR 1885 RIGID PVC
3 HEAD ADAPTER 1875 RIGID PVC
4 GLAZING BEAD 1876 RIGID PVC
5 SASH ADAPTER 1888 RIGID PVC
6 KEEPER RAIL 1817 RIGID PVC
7 STILE 1808 RIGID PVC
8 LOCK RAIL 1806 RIGID PVC
9 TOP PULL RAIL 1815 RIGID PVC
10 BOTTOM PULL RAIL 1805 RIGID PVC
11 STILE/BOTTOM PULL REINFORCEMENT 6113 6005A-T61
12 KEEPER RAIL REINFORCEMENT 6115 6005A-T61
13 LOCK RAIL REINFORCEMENT 6112 6063-T6
14 TOP PULL RAIL REINFORCEMENT 6114 6" / 6063-T6
15 KEEPER RAIL GASKET pp1297 or E109 PP1297 for A1,A3
16 WSTP .187x.210 P-4026 GRAY
17 WSTP .187x.250 P-4028 BLACK
18 SPIRAL BALANCE - CALDWELL EZ-LIFT
19 COIL BALANCE RT880-80 CALDWELL, ROLLER TILT 880
20 LOCK HOLDING SCREW 1007 #6 X 1-1/4" SMS
21 KEEPER HOLDING SCREW 1007 #6 X 1-1/4" SMS
22 REINFORCEMENT SCREW 1068 #6 X 5/8" FLAT TEK
23 INTERLOCK ADDER SCREW 1068 #6 X 5/8" FLAT TEK
26 PIVOT BAR 8148 6063-T6
27 TILT LATCH 825 TRUTH 46.13 / ZINC SBIE)RI,DILGAND PLUNGER, STEEL
28 INTERLOCK EXTENDERS LH&RH 8125 -LH/RH LAWRENCE / NYLON
29 LOCK 8122 VISION HARDWARE / ZINC BODY AND CAM
30 KEEPER 8123 VISION HARDWARE / ZINC
31 REINFORCEMENT SCREW FOR SASH JAMB 1003 #6 X 1/2" FLAT TEK
32 REINFORCEMENT SCREW FOR TOP RAIL 1068 #6 X 5/8" FLAT TEK
33 REINFORCEMENT SCREW FOR BOTTOM RAIL 1068 #6 X 5/8" FLAT TEK
34 PIVOT BAR SCREW - #8 X 1/4" PHIL PAN ( 2 / PIVOT BAR)
35 TILT LATCH SCREW - #6 X 1/2 FLAT TEK
36 TOP PULL RAIL REINFORCEMENT SCREW - #6 X 3/4 FLAT TEK
37 TILT LATCH REINFORCEMENT CLIP 8126 GALVANIZED STEEL
38 TILT LATCH REINFORCEMENT CLIP SCREW - 6 X 3/4 PHIL PAN

\\\ (RANY] l[/
\\\\\ * 531 , 9
BUCK ANCHORAGE DETAIL \\\\ Qj?s' gl M, 5
S’&\\/{u' »". %{:ﬁ E
e ‘Y w W
< 4 a . 4 4 . 4 . | 13_1/2n MAX 5 2.'. 8 . 4:' \» :,; a
q v S5id g Susd Ty
e o, . —>iE B xioEESzo
. P 4 | | 4 = - 5) %S 9.: 2: @
s i | 25 £ ee OF
) ‘ 11-1/2" MAX. o;;% 0503 =
N 4 Iy ”'-, . ’ y Z
. ' ’/}(’Vb’ R O?({’ S
T T / * RV >
R . ///’// P\\\\\'\ <
‘s a A. LYNN M|L|fé|i,'|4.ﬁ, P.E.# 58705
a PR © [%)
; Q| & a
=
R & 4322]| © >
i ) z 5851 S| x |0
Y T O|284E| T |8 |20
= (:5 g S m 9 [n4
< |zE Ll w
o | E3 % 2 — o8 w E s
E5Zag|l @ | 90| 2
" wn 8 Sw w | < o E
23" MAX = oLL 2| < a9
8 g 50 @) X o o
I 4 A | Wwx )
z ES| 0QA
1| - 0| < Z| O<
- Y L] Wi =z1z39e
. 0: x| o =5 8
.7 a [ L — TN
¢ g T} " | 2 = O
- _ o | @ oxuw
) : = < O Og
at = 0 D —n
) prd A ; NS E
‘ , S usS<
‘ . T T S0 Z <K
< Te]
a0, <55 E =
) ’ | | 239 o
o | | 29z 8 [
4 o4 “ ‘ 4 w L w Y O
. - ¥ QO .
a ” < 4 W = ©o e)
P a s Y < EEZ<
< o WA b
" W >z ~
~=— 27" MAX xS x|~
ol &
. <
Mininim Minimum : %
Anchor Substrate Edge || 2| o
: Embedment ZE| -
Distance Ol A LI|_J
Ollw| <
Concrete (min. 3.0 ksi 1" 1-3/8" S(alao
1/4" Steel Ultracon+ ( ) - - Uilo|o
Ungrouted CMU, (ASTM C-90) 1 1-1/4 x| <|>D
L
1) ANCHOR MUST EXTEND A MIMIMUM OF 3 THREADS BEYOND ANY METAL SUBSTRATE. = & Q
2) FLATHEAD ANCHORS REQUIRED AT DOOR SILL. OTHER LOCATIONS MAY USE ANY HEAD TYPE. g NN
3) MIN. #12 X 1" SMS TO BE USED FOR ALL MULLION APPLICATIONS.
4) FOR CASES WHERE SUBSTRATES VARY PER FRAME MEMBERS, USE THE HIGHEST ANCHOR GROUP #1 - | o
LETTER FOR ALL SIDES.
DATE: 12/13/2022
SCALE: NTS
BY:LOGAN YODER
DRAWING #:
DH1845-FPA-LM
SHEET: 5O0F5



AutoCAD SHX Text
8/17/23


	Sheets and Views
	DH1845-FPA-LM-COVER
	DH1845-FPA-LM-2
	DH1845-FPA-LM-3
	DH1845-FPA-LM-4
	DH1845-FPA-LM-5


